23700 - O/A PAD FOOTING

24622 - O/A RUNWAY LENGTH

_ 23200 - O/A OUTER TO OUTER OF BASE PL _ - 12016 - RUNWAY 1 -t 12606 - RUNWAY 2 -
MANUAL STORM N 5740 6150 N 6150 -
- 22520 - SPAN _ LOCK T T
l| j=— B : . .
_ i f E [}
FT 1 A | ! . MR R
(ie = g
—BEr——7 | S| 2
2 | 1 SE
— 3 o
P B B
. [N = -
A : « - w
] i DETAIL E wl
;. ) £ ——— 1 o
TR Riig 1 SCALE: 1: 25 0| B
x gl =
7] .
& Al =z 1y
O w 3 - et ol b
gl © 3 » 18 22 @ C3 c3 c4
9| w } . 57 EAST SIDE RUNWAY
| 2 K . <
A | g3 (12 m
ol D .
z SIS e —3 3|2 L @ _ 24622 - O/A RUNWAY LENGTH N
9| E 8 E S - 12016 - RUNWAY 1 —— 12606 - RUNWAY 3 -
ol © wl 6000 5740 6150 3900
Q 1 [ o ® ]
2 g o %APPROVAL o B3 MANUAL STORM 1 1 |
oG St f—7" 11/06/2021 | § <R FL—D_—., e | | |
S (_ZsiGhature/ DATE Q 11 L 0z A
~ \ MICHAEL FRY P.M h g DETAIL F =
*— 18 NAME IN BLOCK LETTERS ~ POSITION —Er—¢ S SCALE: 1:25 = <
: A ol =z
& 2
Fl o B4 BS B6
o o o| = _* _+ _+
S ] g I S —E— — — S i
© i —_ T =1 1 1 1 1 LI © w| w
& ok
5l S
i
1 Y 3 I Yy . S
2
|j«— B Q I ]
BUILDING PLAN ©| DETAIL D - - cs
Bl SCAEL:2 WEST SIDE RUNWAY
- 22520 - SPAN - ]
o) o - <280,
o Eﬁ 1]? - ITEM DESCRIPTION "ot |LENGTH | SPEC./SUPPLIER | DRAWING#/REF/STD|  PART# | QTY |kg EA
i
A 1615 ' g . 1 |RUNWAY 1 DMS-121 R1 2
_ ¢ | ? 2 |RuNwAY 2 DMS-122 R2 1
= I
< ‘ [ ‘ k| 3 |RUNWAY 3 DMS-123 R3 1
s - | 4 |COLUMN 1 DMS-124 ct 2
o = / }
o) 2150 = 1400 ol ol 5 |COLUMN 2 DMS-125 Cc2 2
° HOOK UP 207 - HOOK DRIFT 22| HOOKUP 8 i T 6 |COLUMN 3 DMS-126 c3 4
= | W 7 | coLumn 4 DMS-127 Ca 1
w ol 2 I — 8 |COLUMN 5 DMS-128 Cs 1
1 hd
. 5 3 9 |BRACINGS DMS-129 VARIES | 1
i S 6 x @24 10 |HEX BOLT STRUCT. - GALV. [ M16 | 45 CcL8.8 AS 1252 PURCHASED | 4 | 0
S ® SECTION C-C 11 |HEX BOLT STRUCT. - GALV. | M16 | 55 cL8.8 AS 1252 PURCHASED | 92 | 0
— 12 |WASHER STRUCT. - GALV. | M16 STFW AS 1252 PURCHASED | 96 | 0
SCALE: 1 : 25
! 4 1Y 4 13 |HEX NUT STRUCT. - GALV. | M16 cL8.8 AS 1252 PURCHASED | 96 | 0
ELEVATION DESIGN REFERENCES APPROVAL FOR CONSTRUCTION | CLIENT: - DOWNER EDI WORKS DWG TITLE
1 1
STRUCTURALREF  28831-EDC-110 | CHECKED oL [PROJECT: MASCOT 10 T'x 22.52 M SPAN CRANE 'ELK
D | 10/06/2021 SPAN DIMENSION UPDATED RK_| DL | DL | gRucturaBY AT | APPROVED oL EQUIP.ID: - RUNWAY ARRANGEMENT AND ASSEMBLY DRAWING
C | 29/04/2021 RUNWAY ARRANGEMENT UPDATED RK [ DL | DL | reaoBony DATE o p RUNWAY GENERAL ARRANGEMENT 1/1)
B | 13/04/2021 RUNWAY LENGTH UPDATED RK | DL | DL S A s e‘;é
A | 29/04/2021 ISSUED FOR APPROVAL RK | DL | DL | "TOANCAL T ABDS U ceasar CRANES REG. CODE SIZE UNITS DzméGSNg 1-DMS-120 REV
ELECTRICAL  ABUS SIGNED +1000 = — mm - -
REV DATE DESCRIPTION DRN CHK APP B R copyright by Eilbeck Cranes www.eilbeckcranes.com.au A3 \ D

FILE LOCATION - C:\Users\rkilzi.EILBECKCRANES\Desktop\28831 -DOWNER RUNWAY\Workspaces\Workspace\RUNWAY\28831-DMS-120.idw



Job No.
Date

Engineer
Revision
Doc. No.

28331

22/03/2021

AT
0

ECE-28331-EDC-101_0

Free Standing Runway Structure

Reactions

Eitbeck,

- CRANES —

Notes:

Loads Are Dynamic As Per AS 1418.1
Load Combination Factor = 0.9 [0.9*(Dead weight + Live Load + In Service Load)]

In Service Wind Speed = 10 m/s

<

2250 mm
From edge of
base plate to
end of the

runway beam

4350 mm

b

Maximum Support Reactions:

[18000 mm

Support | Fx (kN) Fy (kN) Fz (kN) Mx (kNm) | My (kNm)| Mz (kNm)
1 5.5 112 13 110 0.1 1.5
2 1 145 8 71 0.1 1.3
3 0.1 115 11 107 0.1 1
4 1 145 8 71 0.1 1.3
5 5.5 170 13 140 0.1 1.5

295
2 & 8|
—
M20 Cast-In
Anchors Grade 8.8
= o carbon steel (To
© © resist 60-70 kN
Tension- [Working
load limit])
——
Q@ ¢ @

10200
mm
FFL TO
TOR



atanha
Text Box
M20 Cast-In Anchors Grade 8.8 carbon steel (To resist 60-70 kN Tension- [Working load limit])

atanha
Text Box
5

atanha
Text Box
4

atanha
Text Box
3

atanha
Text Box
2

atanha
Text Box
1

atanha
Line

atanha
Text Box
10200 mm
FFL TO TOR

atanha
Line

atanha
Text Box
18000 mm

atanha
Line

atanha
Text Box
4350 mm

atanha
Line

atanha
Callout
2250 mm
From edge of base plate to end of the runway beam


	28831-DMS-120 D (RUNWAY) (002)_MF.pdf (p.1)
	EDC-28831-EDC-102 (AT).pdf (p.2)

